
SAP ABAP table BAPISTUDENT_FEEDATAT {BAPI Structure for Student: Fee Calc. Data (Text Fields)}

BAPISTUDENT_FEEDATAT

STUDENT_FEE_CATEG [CHAR (4)]

BENEFIT_CATEG [CHAR (4)]

PERS_DISCOUNT1 [CHAR (4)]

PERS_DISCOUNT2 [CHAR (4)]

PERS_DISCOUNT3 [CHAR (4)]

PERS_DISCOUNT4 [CHAR (4)]

PERS_DISCOUNT5 [CHAR (4)]

PERS_DISCOUNT6 [CHAR (4)]

T7PIQBENCAT

MANDT [CLNT (3)]

BENCAT [CHAR (4)]

 BAPISTUDENT_FEEDATAT-BENEFIT_CATEG = T7PIQBENCAT-BENCAT 

0..N

1

T7PIQPDISCT1

MANDT [CLNT (3)]

PDISCT1 [CHAR (4)]

 BAPISTUDENT_FEEDATAT-PERS_DISCOUNT1 = T7PIQPDISCT1-PDISCT1 
0..N

1

T7PIQPDISCT2

MANDT [CLNT (3)]

PDISCT2 [CHAR (4)]

 BAPISTUDENT_FEEDATAT-PERS_DISCOUNT2 = T7PIQPDISCT2-PDISCT2 
0..N

1

T7PIQPDISCT3

MANDT [CLNT (3)]

PDISCT3 [CHAR (4)]

 BAPISTUDENT_FEEDATAT-PERS_DISCOUNT3 = T7PIQPDISCT3-PDISCT3 
0..N

1

T7PIQPDISCT4

MANDT [CLNT (3)]

PDISCT4 [CHAR (4)]

 BAPISTUDENT_FEEDATAT-PERS_DISCOUNT4 = T7PIQPDISCT4-PDISCT4 

0..N

1

T7PIQPDISCT5

MANDT [CLNT (3)]

PDISCT5 [CHAR (4)]

 BAPISTUDENT_FEEDATAT-PERS_DISCOUNT5 = T7PIQPDISCT5-PDISCT5 

0..N

1

T7PIQPDISCT6

MANDT [CLNT (3)]

PDISCT6 [CHAR (4)]

 BAPISTUDENT_FEEDATAT-PERS_DISCOUNT6 = T7PIQPDISCT6-PDISCT6 

0..N

1

T7PIQSTFEECAT

MANDT [CLNT (3)]

STFEECAT [CHAR (4)]

 BAPISTUDENT_FEEDATAT-STUDENT_FEE_CATEG = T7PIQSTFEECAT-STFEECAT 

0..N

1


